~t 0 <<€ 5ADIT

o

FFE Q& .0 <P

% | #u N = BA | IEER
1 H |4%- 5% 1i;lo:go(fsi)
2 | K x |CEBOHDDEWN  FRIRE 11:40
3| & Wi =H
4 | K FEDDH
5 | & ZEEDH
6 |
7 | B
8 | A |4m sw|FEESISEEL 1140 (350)
9 N a5 14:00 (4,5/%)
10 | K | (g |FRSERE (35
11| K| O B 14:00
12| & | m =6
13| £
14 | B
15| B O |®RBHE (5/m%)
16 | X O |RBRE (4/%) PRREIRE CRigd: - BiR)
17 | K | () |RBEHE (35) 14:00
18| A | O |[PMEROF=ERE (45% 5/%)
19| & | (m |ERBE=FE S -
20 |
21 | B
2| A O
14:00

23 | X O |RBZ8 (5%) TSV 2UEE (45% - S5mRF)
24 | K x |RESHE (3% - 47%) FHIRE 11:40
25 | K O |ARIREZ Ul

— 14:00
26 | & | (@ [BEES =fin
27 | &
28 | H
29 | A O PRIREIRE (CRigd: - BiR)
30 X | O 14:00
31 | X | (m)

(6 ADEBFE] XEBLLZHEELHYET

1

18 Ok flizzEel (KE)
28 (B) Rk

78 (k) wRg®
168 (&) 51 ELIIE

FRIRE 98 (&) BE®RZ

278 (k) FriRa

108 (&) LS8




